PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
1st August 2016, 03:00 PM
Topic:- General and Logical Knowledge
1)
Question Stimulus :-

Which of these museums was built by Raja Mansingh Tomar? / E:I'l}l q B9 1 JagTad XTSIl 'FI'IT'I'ﬁIF GIE:Ed
GIRT 1T AT YT?

® Rani Durgawati Museum / I ?Th?ﬁ JUeTad

® Tulsi Museum / ﬂ?lTﬁ JUgTadg

® Gujari Mahal Museum / '{Flﬂ Hegd IUgTad

® Jahangir Mahal Museum / \_rIE'ITﬂ?' Hgd IdUgTad
Correct Answer :-Gujari Mahal Museum / 'ﬂ\_rlﬂ Hed SUgrad
2)

Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will
have acidity. I am neither hungry nor have acidity so mayonnaise was spread on the bread.

/ T 98 &I el a1 orar 3 3R IH WR ARG T SI1dT 8 <o a1 a)f # a1 78 S a1 g vhifedt gt
SrRfH & A1 A oz § 1 8 g9 vhRifed @ sufee Aanw S uR S T ATl

® True/ Hﬁ

* False / Teld

e Maybe / 8 9&dl 8

® Irrelevant / ST S
Correct Answer :-False / Tdd
3)
Question Stimulus :-

Shri Omkar Mandhata temple is known for its 2/ Y PR ATRITAT HiGR 3ru= cg ﬁ'll SITAT
SITdT 32

® Tunnels/ ¢1d



® Jyothirlinga/ safafefr

* Caves/ TBTE

® Panchamrit / YTTHd
Correct Answer :-Jyothirlinga/ wafafef
a)

Question Stimulus :-

Junain said to his boss, “Sir, | need a leave. My sister’s father has invited me to the wedding of his one and only son.” To

who’s wedding does Junain want to go?/\?ﬁ?ﬁ' 34 ﬁ\‘l’ﬁﬁ, "R, 'ﬂ'@@ﬂﬂ%ﬁ[l ﬁﬁma?ﬁ?ﬂﬁ 3=
sHdl 9 BT S A g amfa fbar € 1 9 fraat T} A ST Trgan 82

® His sister’s / 3D 95 P

® His brother’s / 3H® HTS BI

® His own / SH®! 3[UAT

® Heis telling a lie / 9 S AT 8
Correct Answer :-His own / 3P 30T
5)

Question Stimulus :-

The river Brahmaputra in its course of about 1,200 km in the upper mountain ranges upto Namcha Barwa is

known by the name of / STEIYA &I TIHAT 1,200 fFatiier 3ru SquTt & HURT ydd §ar § 70T avdl 95
g, A Pede |

® Dhansiri / 4R

® Manas / HTHH

* Tista/forr

® Tsangpo / T
Correct Answer :-Tsangpo / 74l
6)

Question Stimulus :-

What is the day on 25th May 1999? / 25 H$ 1999 & &9 I 37 22



e Monday / THaR

* Tuesday / HICAR

* Wednesday / §YdIR

® Thursday / T®dRRX
Correct Answer :-Tuesday / HddRR
7)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg foweu

g ah st IR REwHFsE FIu= 2 :

If you are wearing a badge, then you are a captain / df¢ 317 85 @A §T &, 1 39 TP W &

e If you are not wearing a badge, then you are not a captain / af¢ 39 8 78] T gL T,
@ 3T HeTE T &

e If you are not a captain, then you are not wearing a badge /HﬁWWHﬁ%}?ﬁ
3TY S &) & 1

 If you are a captain, then you are wearing a badge / gfe 3Y Th
W g, d 3T I T §C &

e None of the above / STd& # | $I5 &l

Correct Answer :-If you are not a captain, then you are not wearing a badge / afe 3ma
BT T €, df 3T o 781 T g

8)

Question Stimulus :-

In the following question, there is certain relationship between the last two terms. Choose
the first term from the following options which has a similar kind of relation with the

second term. / % uy ¥, sifaw @t uel & diw fd R | P13 Jay 31 F fawenl & & ugar g g
Rra®T R Ug & 91y I PR HT TEY B

? : DURXQG : : POLITY : SROLWB
e AROUND
e SHOULD

e ARMOUR



e GROUND
Correct Answer :-AROUND
9)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
g ab st IR REwFsE FIu= 2 :

If it is 5:00 pm, then I will go home / Tf¢ AW & 5:00 s &, df A T SR

e If it is not 5:00 pm, then I will not go home /af¢ AW & 5:00 T8I 99 §, Y A W T8I
TS

e If I go home, then it is 5:00 pm / af¢ A TR ST, @ }MH & 5:00 T &
e I will not go home, then it is not 5:00 pm / af¢ & TR &) ST, Y WH & 5:00 & 9 &

e None of the above / B’Wﬁﬁﬂ-ﬁiqﬁ

Correct Answer :-I will not go home, then it is not 5:00 pm /af¢ & TR &Y ST, oY T
¥ 5:00 T8 99 &

10)
Question Stimulus :-
“Prabhudha Bharat” was written by / “UgY HIRd"” fras gl fafaa %?

® Ramakrishna Paramahamsa / XTHP W[ WU
® Swami Vivekananda / qrHt ﬁﬁm

® Sarada Devi / YMRal aTﬂ

® Bipin Chandra Pal /ﬁﬁq I UTd

Correct Answer :-Swami Vivekananda / qrHt ﬁaﬂﬂ:ﬁi

11)
Question Stimulus :-

Who was the last Deputy Prime Minister of India? / HIRd & Sifaw Iu gy HiT A2

® Chaudhary Devi Lal / e} ¢t @ra

® Morarji Desai / TR aﬂTﬁ



® LK Advani/ T@® TSI

® Jagjivan Ram / EUEICERIE
Correct Answer :-LK Advani / T@® 3TSaTuit
12)

Question Stimulus :-

R K Narayan was awarded the highest literary award of India, for this novel. / 3R & ARTIU B URd &

Tdiw Oifefe REPR | JHTfAa f5ar Tar o1, 39 ST & fom:
® Bachelors of arts / § IR 3ATH AT
® Swamy and friends / arH s ﬁo—e'{\tr

The guide / MgS
Malgudi days / W 1|

Correct Answer :-The guide / TgS

13)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting around a circle and are facing the center. / A,B,C,D,E,F IR G

9 & i 93 T ok $% 31 3R g& fPu gu 31

2. G is second to the left of C, who is to the immediate left of F. / C & ar”ft 3R G gWRT 7, &l F
» fadoa g el ek @

3. A is third to the left of E / E & a1l 31R A T RT &

4.B is between D&E / B, D3 REF ST H &

If A and C interchange their positions, B’s position will be:/ IR A 3R C 3 Y BT MUy H
dqd o, 9 B T &I ghM:

e B is second to the left of A. / A & ST 3R ¥ B guRT 11|
e Bis nextto C./ C % §Ig B g1

* B is third to the right of A. / A & il 3R B @RI g

* B is second to the right of G. / G & g/l 3R B g&RT g1



Correct Answer :-B is third to the right of A. / A & S/l 3R B {1 NI

14)
Question Stimulus :-

The Pallava Kingdom was also called . | UETd AT B fy Dl SITdT YT

* Tondainadu / A STFHEAH AT

® Pallava peeth / U¢Tid i)
® Pallavapuri/ W
® Shravasti / HTa&I
Correct Answer :-Tondainadu / 4 STHSAH ATg

15)
Question Stimulus :-

Ravi is 7 ranks ahead of Sumit in a class of 39. If Sumit’s rank is seventeenth from the last,

what is Ravi’s rank from the start? / 39 BTl &1 ®&m & I AT A 7 I AW 31 A GG &1 ==
FATA TR A 17 8, 9 SR A A &1 = F1 82

e 14th/ 147
e 15th /15T
e 16th/ 16
e 17thy 17
Correct Answer :-16th / 16

16)
Question Stimulus :-

A bell rings in a school after every 25 minutes. The enquiry clerk told a person that the bell
rang 10mts before and the next bell will ring at 10.05 am. At what approximate time did
the enquiry clerk give this information to the person? / ¥ 25 e & vy & ¥pd H gt
ol 81 IBdIS e J Ue Afad & gardl fb 8¢l 10 e ugd woit ot iR spTed! 6¢t wa:10.05 R
TRl UDare P A TTUT 5T I0T W) I8 THSR 39 e &1 &2

e 9.40am /9:40 Uld:

e 9.50am /9:50 Uld:



e 9.35am /9:35Uld:

® 9.55am /9:55 Uld:

Correct Answer :-9.50am / 9:50 UTd:

17)
Question Stimulus :-

City Fruits orders Apples from Himachal Pradesh. The transportation cost of apples is
Rs.200 per kg and cost of storing them in a cold storage is Rs.100 per Kg. Right now there
are 100 Kgs of apples in the storage. City Fruits plans to place an order. / eI & Hadaral A
fRura et ¥ A9 WA §1 A9 B uRas anTa ufa fhet 200 FUT § 3R IAH! Pies WA | TIT A
glggauﬁrmﬁm 100 ¥UT g1 31ft SR ¥ 100 fFahmy A F1 eI F BAaTA TS 3 B FleT

|

Suppose the demand for apple is not known with surety. It can vary from 500 kg to 1000
kg. If the store wants to minimize his expenses on transporting and storing apples, how
much should it order and what will be the expense of this order? / HF difore fb A9 F1 AT
WY ¥U A 919 781 81 I8 500 fFamd A 1000 fFat aF 95a APt 31 S gH™ A9 F uRaeg iR
TYEUI UX U Wd B] HH BT IIgdl 2, df IUD! fbaar ST 1 A1fRT 3R 5 3SR &1 W fbad1 g

1000 kg , Rs. 3000 / 1000 f&dl, YT 3000

e 500 kg, Rs. 1500 / 500 f&dl, ¥UT 1500

400 kg, Rs. 1200 / 400 f&dl, ¥=UT 1200
* 400 kg, Rs. 1000 / 400 f&@l, ¥UT 1000

Correct Answer :-400 kg, Rs. 1200 / 400 f&dl, ¥U¢ 1200

18)
Question Stimulus :-

Which of these are the most important towns in Malwa region? / E:I'ef ¥ SIF-ATAar &3 § 999 'Flﬂﬁ'g}]f AR

?
® Panna and Ujjain / AT 3R I=H
® Ujjain and Indore / I=i 3T E_a?
® Rewa and Bhind / $i41 3R fijus

® Umaria and Rewa / SHNAT \?rﬁ?' Sar

Correct Answer :-Ujjain and Indore / 33 3R aI¥

19)



Question Stimulus :-

Which article of the Constitution abolished untouchability? / FfqeT= CAL T Gﬂ@_d SIYRYdT DI GHTW B
fear?

* Article 42 / 3G 42
* Article 15/ 3]G 15
* Article 14 / 3¢ 14
* Article 17/ 3G 17

Correct Answer :-Article 17 / 356 17

20)
Question Stimulus :-
Ibyte=___ bits/19ge =__ fae«
e 8
e 10
e 100
e 16

Correct Answer :-8

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 faseu gfQ
Sil 3T T YAl wd el & R A 9 R

Statements: / PYA:

All boys are hard workers / H‘l-ﬁﬁ's% ﬁ%’-‘-l’cﬂ%
Ramu is a boy / ?TE[WEIW%

Conclusions: f=pd:

I. Ramu is a hard worker / 9 A8t 8

II. Shyam is not a hard worker / Wﬁ?ﬂ?ﬁﬂﬁ%

® Only conclusion | follows / *ad frsed 1 fApaar %



® Only conclusion Il follows / Had frsed 1| fAreadT %

® Both conclusion | and Il follows /ﬁ'mﬂf I GﬁT I1 a:ﬁ IGCANG %

® None of the conclusion 1 or Il foIIows/ﬁWEf IGTIIH A ﬁ'& qﬁ Freadar %
Correct Answer :-0Only conclusion | follows / *ad ey 1 fAeadr %
22)

Question Stimulus :-

Find the word that represents the category of the following three words. / T8 T J1d Bifold
<t g 9 2l Y Aot Y quifar @

Fraud, Jealousy, Hatred / 9d, s"l!l'f, qum
® Destruction / fam=T
® Envy/ STdd
® Human characteristics / ﬂﬂ'ﬁq?ﬁ ﬁ'ﬁm
® Quality / TUT
Correct Answer :-Human characterisﬁcs/maﬂmm

23)
Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, sh;lre a
common similarity while one is different. Choose the odd one out. / FF Uy ¥, PO | &
e f3d ma §, <t 9fl, Fad ue o) SleH, JUM ¢ 6P TP e ¢ | favy arad & g |

° AE
o Al
e IO
° EI
Correct Answer :-Al

24)

Question Stimulus :-



Select the option, which is the logical equivalent of the statement given below: / dg fawe

ghesiab sl AR Rr s FIu= e :

If you are riding a bike, then you need to wear helmet. / gfe MY SIS F AT 78 %', CIRCILED)

TAAC U1 B! SR=d §l

e If you are not riding a bike, then you need not wear the helmet. /

gfe 3T 915D 8] IaT 3@ &, af STUD! aafe Ug—a &1 oexd T8t o

e If you are wearing a helmet, then you are riding a bike. /Uﬁaﬂq%ﬁ'ﬁ?qﬂﬁ@%}?ﬁ
3T 915 I 38 &

e If you are not wearing a helmet, then you are not riding a bike. / af¢ 3T g@de 8!
Ug g Y MU aT3 S 18 °e 3R B

e None of the above / 3Td& & A ®I3 L |

Correct Answer :-If you are not wearing a helmet, then you are not riding a bike. /afe

3ITY 3AHE T51 U §U &, A1 MU TSP o a8 o |

25)
Question Stimulus :-
CANCELLED

Select the option that is true about the Statements and Conclusions given: / dg faweu i[ﬁ't{
Sit 3T T Fy=l wd el & R d 98 B

Statements: / BYA:
All doors are windows / I 2o fasfai &
All windows are handles / Hﬂ-ﬂ@m 3@%
Conclusions: / fswd:
I. All doors are handles / H?ﬂmﬁsﬁ%'
II. Some windows are doors / O f@sf&dal gzam™ &
® Only conclusion | follows / Wﬁlﬁﬂf I fFradr %
® Only conclusion Il foIIows/aﬁﬁﬁI’Wﬂf n freadr %
® Both conclusion I and II follows / st I GﬁT I1 aT'ﬁ IGENG %
® None of the conclusion | or Il follows/ﬁ'mﬂf IGTIIH 9 m :I'iﬂ IBCISGI %
Correct Answer :-0Only conclusion I follows / Had e 1 fApadr %



26)
Question Stimulus :-

What is the full form of SCRA passed in the year 1957? / ay 1957 § urfya far wan "Eﬂ'\‘ﬂ'm" DI RT ATH
T 72

® Stock Control Regulation Act / i frar fafraas sififerm
® Securities Contracts Regulation Act / Uﬁl‘{ﬁf sfaer fafraa= sifuferaa
® Stock Contracts Regulation Act / wie dfder fafraw= siffraw
® Securities Control Regulation Act / uﬁﬁ-jﬁf ferizror fafere= srfuferas
Correct Answer :-Securities Contracts Regulation Act / uﬁ‘{ﬁ' wfaer fafrae= sifufaaw

27)

Question Stimulus :-

National Rural Development Institute is situated at ./ ?T@'q rHioT faer SR _ﬁ @ %I
* Shimla / e
® Hyderabad / %W
® Patna/UcHl
e New Delhi /8 faeeh

Correct Answer :-Hyderabad / 3SR19TG

28)
Question Stimulus :-

What is the full form of SATYAM, launched to strengthen research in the field of yoga? / & & | & EGLIE
DI AOIgd B & (AT Y= fpar aea &1 quf &9 1 32

® Satellite for Yoga and Medicine T 3R fafeen & ﬁl"'{ i‘r%aTs‘d
e Science and Technology of Yoga and Meditation / AT 3Y &a9 &1 fag= v Wenfis)
® Science and Technology for Yoga in Medicine / fagm= 3R Menfira ffem A Qv & form

® Salvation through Yoga and Meditation. AT 3R AT & HTeH /e |

Correct Answer :-Science and Technology of Yoga and Meditation / GRT 3R &4 &1 fag=

T drenfiret



29)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg o il,ﬁ'G
Sit 3T T Syl wd el & R d 9 R

Statements: / PYH:
Some fish are not kids. / $© USfrl I 81 2
All fish are flies. / | Foferal afRayi &1
Conclusions: / faswd:
I. Some flies are not kids. / $© AfRayl g &I §1
II. All flies are fish / Wi afReai 7o B
® Only conclusion | follows / *Had frsed 1 fAeadar %
® Only conclusion I follows / dad fasd 1 Fraar %’
® Both conclusion I and II follows /s I Gﬁ?’ I1 atﬁ fFreed %

® None of the conclusion | or Il foIIows/ﬁWEf IGTIIH 9 ﬁ'-.{ qﬁ e %
Correct Answer :-0Only conclusion | follows / Fad ey 1 fAeadr %

30)
Question Stimulus :-

In the following figure, rectangle, square, circle, and triangle represent the regions of
wheat, gram, maize and rice cultivation respectively. / 39 srefa #, smaq, of, ga iR Ao

HUL: T, T, USHT 3R T1a9d I Well & &F HI a0 g



6 7 11&
/ 10

Which area is cultivated by maize only? / f&d &3 # $aa #gd B! Qdl gl 82

Correct Answer :-3

31)

Question Stimulus :-

A , popularly known as lie detector, records several physiological indices while the subject answers a

series of questions./ ,\_rﬁqlﬁﬁlﬁ'ﬁ‘TWﬁ e} f&eae | ST wiTar %, faftrr Wﬁ?ﬁ?ﬁﬁaﬁ
TS BT 2 ST AT S TaTel! BT SaTa 3T 21

® Polygraph / CINIPING

® Barograph / dlg qId a
® Heliograph / SASIRTw

® Lithograph / fordme

Correct Answer :-Polygraph / UTeiSITH

32)



Question Stimulus :-

Who won the Dadasaheb Phalke award for the year 2014? / H{T¢T 2014 ¥ grerdTed BIad YRIPIR fa Sitar
Yr?

® Manoj Kumar / T PHR

* K Balachander / & STETHG:

® Shashi Kapoor / RIS YR

® Soumitra Chatterjee / T Aesif

Correct Answer :-Shashi Kapoor / X T

33)
Question Stimulus :-

Kamlapati Palace is located at__ ./ FHATUS T _ﬁ a2l
® Bhopal / wiare
® Asirgarh/ m
 Gwalior / TR
® Mandu/ HIg

Correct Answer :-Bhopal / HIUTel

34)

Question Stimulus :-

How many times has the Asian Games been held in India? /WF-F[ W@Nﬁ@?ﬁ & HIRd | mafora foear war
a2

® One/Ud
e Two / EBI
® Three /<4
* Never/ HHI gl
Correct Answer :-Two / 3’[

35)



Question Stimulus :-

Following are the three positions of a cube. / 99 @1 49 fRufagi fg yorR 4 &

TOM RON
m m
JACK TOAM
15t view 2md v iew
RON
NEAL N
3 yiew

What is the name on the bottom face of 29 view? / §'\‘=ﬁ' T & qd $ BAd W R A §2
® NEAL
® RON
® JACK
* JIM
Correct Answer :-JACK
36)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / <] & AT &R 9 RA A €1 ud® 3R & Jwifrd forar a1 g1 98
faren g o Trde O 9t A1 & o SEme & Fu H 3eRY &1 9l vH T B

INLASG

123456
e 24,3,6,1,5
e 3,46,1,2,5

e 51,6,2,4,3



* 6,1,3,5,4,2
Correct Answer :-5,1,6,2,4,3

37)

Question Stimulus :-

Battle of Plassey was fought between the English and /W'I?ﬁ Pl & 3 3R & d" asT ™
YTl

® Tipu Sultan / ?ﬂ'{’\ﬂ?(ﬂ:l'

® Haider Ali / 3GR 3fcil

® Siraj-ud-Daula / RIS 33?:?'?"

e Shivaji / FRrareft

Correct Answer :-Siraj-ud-Daula / RIRT1 3¢ Srat

38)
Question Stimulus :-

Who amongst them have not been awarded the Nobel Prize? / f-5 & & foraat ﬁaﬂw G NE G
fparmar 32

® Amartya Sen / v a4

® Rabindranath Tagore / Wﬂ%‘ﬂ?
® Mahatma Gandhi / HeTHT il

® Mother Teresa /Wh

Correct Answer :-Mahatma Gandhi / HGTAT i<h

39)
Question Stimulus :-

Who among the following has had 3 stints as Governor of Madhya Pradesh? / fafafead |
fFToT 90 U & TSI & FU § 3 FRIBTA gl BT 82

° BDSharma/ﬁ:‘ﬂ"ﬂ'ﬂf
® Chengal Rao Reddy / CUKH Tﬁ@

e KM Chandy / & UH Tia}



® Balram Jakhar / d¢RRTH SIS
Correct Answer :-B D Sharma / &t &} 3/t
40)
Question Stimulus :-
Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E Urd aﬂ'ﬁﬁm g % -
1. A, B and C are in Indore and Bhopal. / A, B 3R C E?I'\'QH viurd ﬁ'%’l
2. A, B and E are in Indore and Gwalior / A, B ARE é‘cﬁ?@@ﬁ'ﬂ?ﬁ?l
3. B, C and D are in Raipur and Bhopal. / B, C 3R D IJ0QR Td Hiud A 1
4. A, E and D are in Gwalior and Jabalpur / A, E 3R D W@Wﬁ?l
5. C,E and D are in Raipur and Jabalpur / C,E 3{R D YJAYR U4 SEaYR H 3

Branch of which bank is in Raipur and Indore but NOT in Bhopal? / fra 3 aﬁmw MR
EER A 8 IR gt # 812

Correct Answer :-E

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

The greatest five digit number divisible by 98 is / 98 ¥ faursa a9 El?ﬂ LRG| %
® 49980
* 99960
* 99980

e 99999

Correct Answer :-99960

2)



Question Stimulus :-

CANCELLED

25 women can do a work in 15 days and 15 men can complete the same work in 20 days. What is the ratio between
the capacity of a man and a woman? / 25 HTgAe Th HTH $i 15 ﬁﬁwmm%\?ﬁ? ISWW
$H $ 20 fe1 § T H Tod §1 At ik ol $t emar & &= Far srgurd 82

® 4:3

® 34

® 2:3

* 3:2
Correct Answer :-3:4
3)
Question Stimulus :-

When 15 is subtracted from 5 times of a number, we get 65. Find the number? / SId 15 P TR & 5 T a

Ul 91T §, a1 89 65 firadr g1 'am e

® 15

* 26

* 16
Correct Answer :-16
4)
Question Stimulus :-

If FICTION is coded as CIFTNOI, what will SEMINAR be coded as? / df& FICTION &1 cIFTNoI I ®ifsd frar Sirar

®, 1 SEMINAR B Y Sifed fpar sram?

® MESIRAN

MESIRAM

® MISERAN

® MESINAR



Correct Answer :-MESIRAN

5)
Question Stimulus :-

In a certain code language MATHS is coded as LZSGR then in that language GEOGRAPHY is coded as: / ot @ g
Hibfad UTHT H, MATHS @ LzSGR | HIfSa fhar ST 8 df 39 HTUT # GEOGRAPHY @) X Hifsa fawar
ST

® FDNFSZOGX
® FDNFQZOGX
® FDPFQZOGX
® FDNFQZQGX
Correct Answer :-FDNFQZOGX
6)
Question Stimulus :-

9

Addto v the smallest fraction which will make the result a whole Number? /

23 10 ¥ iy wed oot R WY uRkomy we ot s e

L | o=

L | k2

| & L |

| —

=

Correct Answer :--

7)

Question Stimulus :-



In the foIIowing qyesti_on, one term in the number series is wrong. Find out the wrong
term. / 9 uy ¥, T=I g1 ¥ UF UG T §| A UG 91 BIoW|

1,8,27,64,125,215

® 125

* 64

® 215

° 1
Correct Answer :-215
8)

Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW 31&R AP 4TAT BT W HIOT : _ _
bdac _d _cb_ac_d

® acbbad

® acbabd

® acbadb

® acbbda
Correct Answer :-acbadb
9)

Question Stimulus :-

What is the least humber that must be added to each of 16, 13, 10 and 8 so that. the
resulting numbers are in proportion? / TS 16, 13, 10 3R 8 & 1Y B “gAdH JSIT

St arfee arfes ufvomsdt Jend gurqura # g2

Correct Answer :-2



10)
Question Stimulus :-

The catalogue price of watch is Rs. 575.If discount of 12% is allowed then find its Selling price? / Tdh
uI! B N T 575 TW 31 12% B Fe Fem & 91 391 fawt gou fopa=n ghme

® Rs.606 /30U 606
® Rs.506 /¥UU 506
®* Rs.406 / ¥UU 406
® Rs.306/%UUY 306

Correct Answer :-Rs.506 / UU 506

11)
Question Stimulus :-

Complete the series choosing the missing number: / ﬁ?jl?r AT PR @l :| Ul P :

2,6,18,54,

® 160

* 164

® 158

* 162
Correct Answer :-162
12)

Question Stimulus :-

Complete the series choosing the missing letter/s: / fAqW 31&R TADR 4T HI [T HIFOITC : aab
_bca_cda_cd _

® abcd
® bcde
® abdd

® abbe



Correct Answer :-abbe

13)

Question Stimulus :-

Two cars start from the same place in opposite directions one goes towards North at 60 km
/ hr and other goes towards South at 75 km / hr. What time will they take to be 405 km

apart?/ <! o1 faufia fRznsl & v & WM A I61 IR Hd & TF 60 fHHi/ver 1 afd § IW 3 iR
mmm 75 it/ der ot 7l @ <féor $Y ok a1t 81 Te gk 9 405 fFt @R em & 9@ fHa
quY ?

° 3hrs/3'ﬂ%

1

g .
® 2 “hrs/ 2~ H¢

bt | =

® 2hrs/2W¢
1 1
2 a

® 3° hrs/ 3~ ®¢
Correct Answer :-3 hrs/ 3 G¢

14)

Question Stimulus :-

From a container having pure milk, 20% is replaced by water and the process is repeated twice. The percentage of milk
is/ T gd |, oW I g 7, 20% P U A FoaT TAT 3 MR 59 UlhAT P g IR g 4T gl
<Y Bt yfrraar 8

* 60%

* 62%

® 65%

* 64%
Correct Answer :-64%
15)

Question Stimulus :-

There are four alternatives for the following question. Find out the correct one. / fauy &

fog ar fReew 8| W& aren gy

i. '‘Quo Cui Heer’' means 'Boy is Good’ / '‘Quo Cui Heer’ &1 Hddd % ‘Boy is Good’



il. ‘Lai Quo Mea’ means ‘Meena is fair’ / ‘Lai Quo Mea’ P1 AJAd 3° Meena is fair’
iii. '‘Ruo Lev Mea’ means’ ‘All are Fair’ / ‘Ruo Lev Mea’ &1 IIT-IFI‘«I% *All are Fair’

iv. 'Si Hai Cui’ means ‘Dog was good’ / 'Si Hai Cui’ BT HAAd & ‘Dog was good’

Which of the following encryptions stands for Good? / A% Tf<pu= i § § Good & T 19 &T

22
®* Quo
® Cui
®* Heer
* Lai
Correct Answer :-Cui

16)
Question Stimulus :-

What is the average of all prime numbers between 1 and 25? / 1 3R 25 & &9 &t 9t 3y
T &1 Nud 82

* 12
* 11.1
°* 11
* 121

Correct Answer :-11.1

17)
Question Stimulus :-

If alphabets are encrypted as numbers, J-B+D is equal to / f¢ &R B T&ATSH & FUH
uf=pp f5ar a1 §, 9 3-B+D TRIR € 59F

e 9
e 21

* 16



e 12
Correct Answer :-12

18)
Question Stimulus :-

A’s income is 50% more than B’s. How much percent is B’s salary less than A’s?/ A &I A9 B & 999 A 50% 3fUP

21 B &1 9a9 A & 9a4 9 fpa= ufo=a 9 22

® 33%

1
* 33%

1
* 333%

1
® 332%

1
Correct Answer :-333%

19)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A% 3 T IR udl & A 1 Y T vad & S IHE F9 1 TP T8I 82

Meier, Joel

School of Forestry
University of Montana
Missoula, Montana 59812

(406) 243-6459

(i) Meier, Joel

School of Forestry
University of Montana
Missoula, Montana 59812

(406) 243-6459



(ii) Meier, Joel

School of Forestry
University of Montana
Missoula, Montana 59812

(406) 243-6459

(iii) Meier, Joel

School of Forestry
University of Montana
Missoula, Montana 59812

(406) 243-6459

(iv) Meier, Joel

School of Forestry
Univeristy of Montana
Missoula, Montana 59812

(406) 243-6459

® i

® jv
Correct Answer :-iv
20)

Question Stimulus :-

If the selling price of 10 articles is same as cost price of 11 articles. Find the gain Percent /10 a'\‘ﬂ&ﬁ?ﬂ
et e 11 avg il & aNTd You & SRTER 8| a1Y Ui=Id &1 uat &g

* 11%



® 20%
°* 30%
°* 10%
Correct Answer :-10%

21)
Question Stimulus :-

(963/9)x4-(850/50)x2-666/6x7=?
e .338
® .833
® -383
® -883
Correct Answer :--383
22)
Question Stimulus :-

Find the value of "C,, / "c,, @1 A4 fA®1ierd

Correct Answer :-0

23)
Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT FAHR STaT B TR BIFOMT :

16,22,30, 52,66



® 45

® 43

® 40

e 38
Correct Answer :-40
24)

Question Stimulus :-

How many triangles are there in the following figure? / % nefa & fean i &2

® 10

® 15

° 14

e 13
Correct Answer :-14
25)

Question Stimulus :-

In throwing of a dice, the probability of getting an even number is / 33[ u WHTQI%TI'EI T FHTGAT %'\‘TF[
T@T 3(T3?

° 1/3

* 1/4



® 1/6

° 1/2
Correct Answer :-1/2
26)

Question Stimulus :-

Four cards are drawn from a pack of 52 cards. What is the probability that there is one card of each suit? / 52 ar=n &t

TS TS H A 4 TR0 B FHp1an AT 8 1 T YT 3 Dt at TS I W A TP =1 g2
* 13/52¢,
e 13%/52¢,
e 13%/52¢C,
e 133/52¢C,
Correct Answer :-13%/52c,
27)

Question Stimulus :-

A train 100 m long is running at the speed of 45 km/hr find the time taken by it to pass a man standing near the railway

time?/ 100 HY Tt T 37 45 fpefl/eier &Y ey T Tarell 8, a0 B 6 ¥ B 1ed) & Uy @S v 3et Fi
UR 34 # 39D fra= w7y a2

* 12sec/ 12 AHS
* 10sec/ 10 AHS
* 8sec/ 8 oS
* 2sec/2 AP

Correct Answer :-8 sec/ 8 &g

28)
Question Stimulus :-

The series given below contains a s_equence_of_al.phabets and numbers. Identify the
incorrect combination: / A & T g@ar 3eRY Td JRBITSH BT SAIHH TANT B 8| TAd Hare
UgaI-d|



(i) hf8o7e6uwa
(ii) hf8o7e6uwa
(iii) hf8o7e6uvva

(iv) hf8o7e6uwa

® j

® i

® jv
Correct Answer :-iii
29)

Question Stimulus :-

If alphabets are encrypted as numbers, A+B-F is equal to / af¢ 3i&R} & T=msi & ¥q #
uf<pe foFaT 1T B, @ A+B-F SRTaR 3 39P

e 3
°* 6
e 9
e 11
Correct Answer :-3

30)
Question Stimulus :-

Complete the following sequence of figures. / Gﬂm & foru vy &1 T PIford:

AN | LT | DA




[ [

f I/

Correct Answer :-
Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

A rainbow can be seen in the sky / YUY &I ATHTA A aET SfT Jhdl %
® when the sunis in front of you / SId '\‘Id 3P JTHA ﬁ?ﬂ %
® when the sun is behind you / SId '\‘Il'f 3Mg& Ny T;ﬁ?IT %
® only at the time of sunrise / qﬁ'\Tﬂ?ﬂ' & gy
® when the sun is overhead / S1d ﬁff AR P TR ?IT‘IT %

Correct Answer :-when the sun is behind you / 18 G4 3Tqs G ghar ?

2)
Question Stimulus :-

The disadvantage of friction is that / oo & RCGIB K % f&:
® |t causes wear & tear / Eﬂa? PRUT ¢c-Bc gidl 8
® |t causes much wastage of energy / U@ ol Bt ggd FAIdt BT BRI I9d1 &
® |t produces heat / g SHCHT SUA HIdl %
® All the above / SRIad gaft

Correct Answer :-All the above / SWRIaT HHI

3)



Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

Frafafad o8 vy Ay Tt & YR R 8, S & v uiig Qe su-t & 5 Sdel & aiffe Sdgd a1
(39RI ¥) few@mar 21

Year/d% M Scrabble /FFae | Chess/aTa{aT | Monopoly/ | Carrom/
A | A
1992 200 150 78 a0 63
1993 150 180 100 105 70
1994 130 175 92 110 85
1995 195 160 120 125 73
1996 220 185 130 135 a0

What is the approximate percentage increase in the production of Monopoly from 1993 to 1995? / 1995 ¥ 1993 TP

Mt F Iaared # srgHAa ufawra gfs w82
e 10

® 20

® 25

Correct Answer :-20

4)
Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

Fraferfad o8 vy Ay aifereT & YR R g, S 3 v URg fAd Ul & 5 Il & e ST &I
(B9RI #) feamar 21



Year/d% M Scrabble /FaeT | Chess/aTa¥ar | Monopoly/ | Carrom/
A | A
1992 200 150 78 a0 635
1993 150 180 100 105 70
1994 180 175 92 110 85
1995 195 160 120 125 73
1996 220 185 130 135 a0

For which of the following toys, the ratio of the production in 1996 to that in 1992 is the highest? / ﬁ'ﬁmﬁ 79 g

@A & T, 1996 & IUG A 1992 F IJIGH BT AJUTd TS AP §?
® Chess / X3S
® Ludo /TSl
® Monopoly / HIFTUTer
® Carrom /"
Correct Answer :-Chess / Qs
5)
Question Stimulus :-

If the area of a circle is 50 m2, the area of a semi-circle of this circle is

%/ afe ot ga &1 dawa 50 Mex2 , 8 @ 39 ga & 3ifga &1 dAwa
|

e 5m2/ 5 2

e 25 m2 / 25 Hlex2

e 50 m2 / 50 Hiex2

* 100 m2 / 100 Hiex2
Correct Answer :-25 m2 / 25 Hlez2
6)

Question Stimulus :-

Find the perimeter of a circle, which has a diameter of 42 feet. / 3 g BT gfEmg Id ﬁﬁl’(’, forI®T U™ 42 Wi %I



® 132 square feet / 132 Tl Bie
* 132feet/132 Wi

* 1386 feet / 1386 Wi

* 13.86feet / 13.86 BIC

Correct Answer :-132 feet / 132 BIc

7)
Question Stimulus :-

o
The rational number ~1& / URAg "= -6

* has either a positive numerator or a negative numerator / # IT df T% Y9Te® 32 IT TH
BUTHSD 3 |

®* has a negative numerator / i TH BUMTHD A %I

®* has neither a positive nhumerator nor a negative numerator / HTdar TP YATHSD 3T % Td
1 € U BUTHS 3

® has a positive numerator / s | TH YATHD 3 %I

Correct Answer :-has either a positive numerator or a negative numerator / # a1 at Th
YIS 3 IT TP HBUNHS 3T B

8)
Question Stimulus :-

You are entering the exam hall with a little fear about the type of questions. Which of your endocrine gland will

be most active at this moment?/WH&ﬁ%W%ﬁﬁﬁWﬁW%quﬁmam[ﬁmm?%%l
39 U1 3MUS! S AT idwra Iy 99 wrer |ihy ghft

® Thyroid / 3dg hfy
® Pancreas / AIR™

® Ovary testes / ST qUUI

® Adrenal gland / 3fF® HfY

Correct Answer :-Adrenal gland / 3fUqa® 3fY

9)



Question Stimulus :-

If X9 = -512,then x = /dd x2 = -512dt x =

° 2

o 4
° 4
Correct Answer :--2

10)

Question Stimulus :-

The slow process of conversion of dead vegetation into coal is called / §d gwfa o Fge A ufRafda s @t
ft uftrar wgard! 8

® Esterification / Wﬂw

® Saponification /'\"I@:ﬂT{UT

® Carbonization /mﬁ'—ﬂwur
® Polymerisation / WT\"UT

Correct Answer :-Carbonization / CACIRICZAYI

11)
Question Stimulus :-

The aquatic animals like fishes excrete nitrogenous waste in the form

and the birds excrete in the form of / S|
Gﬂaaﬁwmﬂ@mmﬁrg & U § IoAfold Bl & adr ueh
¥ g # Igfold & g1

® Urea, uric acid /?Ih'CIT, ?{ﬁﬁ L)
® Ammonia, urea / enﬂﬁm,q;h‘m

® Urea, ammonia /q;h'uT, 3T
® Ammonia, uric acid / ST, ?Iﬁﬂ? 3T

Correct Answer :-Ammonia, uric acid / GITﬁﬁ'QT, W 3



12)
Question Stimulus :-

A man painted his iron gate, mainly to / T 3TGH 7 3(UA Tlg & BIeP I T, J&Id:
® prevent it from rusting / 39 ST @ H A g1 & forw
® protect it from sun / 39 YU A FAM & fow
® make it look beautiful / 38 FaYRd FATH & foT
® make it dust free / S8 Y& Gad T & A
Correct Answer :-prevent it from rusting / 39 S @11 ¥ 94 & fag

13)

Question Stimulus :-

(34 (34
cot, | cot| |
2 ) L2 ) .
If sin A = 1/2, find /afgsinA=1/2, I B3|
e 1
°* 0
3

* is undefined / 3aRYIRE 3
Correct Answer :-1
14)
Question Stimulus :-
What is manure ? / T HT %?
® Manure is an agricultural product. / Wlg Udh ?ﬁf Sl %I

® Manure is added to the crops to make it grow better. / Wlq &I Bl A firarar Srar % e a a'b'?ﬂ'
fawlia 8 9&|

® Manure is chemically based substance. / WTq IETa® myTivd TIET'J %I

e Manure is an organic substance obtained from the decomposition
of plant and animal wastes caused by micro-organisms. /3G &



FrafA® yerd 3 o el iR SFaRl & Srufiy uegrif & geu Siial gRT srage | e far s 3|

Correct Answer :-Manure is an organic substance obtained from the
decomposition of plant and animal wastes caused by micro-organisms. /dlg U@

Frafe el g R diel ok wHaR & 2fRiy verif & gea sial gRT srage & ure fbar i 21

15)
Question Stimulus :-

Evaluate 397 * 397 + 104 * 104 + 2 * 397 * 104. / 397 * 397 + 104 * 104 + 2 * 397 * 104 BT HIF ABIC|
* 250001
e 251001
* 260101
* 261001

Correct Answer :-251001

16)

Question Stimulus :-

The number of oscillations per second is called / L'Iﬁf @%03 ﬁ -@ﬁ H'IT'ﬁ a?F'ﬁ 3| IJET ﬁ?l'l’cﬂ % :
e Amplitude / TATH
® Frequency / e’nqﬁ-r
® Time period / GHY 3rafr
® Oscillation / a'?F'I'

Correct Answer :-Frequency / GITQ'RT

17)
Question Stimulus :-

The mean proportion between 0.32 and 0.02 is: / 0.32 ¥4 0.02 T HWIHQ'I'(ﬁ % :
® 0.008
e 0.4
e 0.8



e 0.08

Correct Answer :-0.08

18)
Question Stimulus :-

Find the total surface area of a cylinder which has radius 14 cm and height 20 cm. /39 S BT qﬁh &hw Jd Hﬁﬁﬂ!
et BuT 14 A 3R Fars 20 A B

® 2993 cm?/ 2993 HH 2

e 2992 cm?/ 2992 A+ 2

o 2292 cm?/ 2292 A+ 2

* 2229 cm?/ 2229 A+ 2
Correct Answer :-2992 cm?/ 2992 It 2
19)

Question Stimulus :-

Wind chimes & Bells are made of metals that demonstrate its / dTYg EFJFIT \’rﬁ? ufoegl 3 il'l_g'a-ﬁ @t Tt ﬁ?ﬁ %
it g velkfd #vd &

e Malleability / SmaTagstadr

¢ Ductility / ddl

® Sonority / Ydl

e Conductivity / dIciodl
Correct Answer :-Sonority / 4ddl
20)

Question Stimulus :-

A porter ties a piece of cloth around his head when he has to carry heavy loads because / Tdh Q’Wﬁ o9t yi

9ol 2idT 8, 98 301 RIR & aRY 3R $US FT UH HST d1Y AdT 3, Fi :
® |t does not hurt his head / u%'w%?ﬁ?wzh‘c'ﬂé’rug"am

e It decreases the area of contact of the load / $H 991 & HU® BT &F HH g ST &



e Itincreases the area of contact of the load / SHQ 959 & HUD BT &F 9¢ AT 8

® |t keeps his head cool / wmﬁ?aﬁwwﬁ%

Correct Answer :-It increases the area of contact of the load / 3‘\‘@ golF & HUSD BT & dg
ST @

21)
Question Stimulus :-

One-fourth of one-third of two-fifth of a number is 10. What will be 40% of that number?

/ U GBI & ) URId & U fAgTe &1 U dIUTS 10 g1 39 IBT BT 40% FT gRIT?
® 220
® 350
® 120
* 130

Correct Answer :-120

22)

Question Stimulus :-

A polymer cotton is made up of cellulose having large number of units of / Th TTAAR ?"_g @ﬁ?ﬁ? A fraee g+t
? o gaast 9 ot Ten o @

® Ester / TN
® Ethene / THH

® Amide / THISS
® Glucose / W

Correct Answer :-Glucose / Tq®IH

23)
Question Stimulus :-

What is natural vinegar? / Wﬁﬁ? e 1 &2

® (Citric acid /?IE% <L)
® Lactic acid /ﬁ% X E)



® Acetic acid / TAfe®d 3
® Alcohol / UePIGTA
Correct Answer :-Acetic acid / TAfe® 3t

24)

Question Stimulus :-

A spoonful of curd was added to a glass of warm milk and was kept for a few hours. It turned in to curd. Name
the organism responsible for curd formation . What was its source? / Tdh firem [ | UPh JHA gl
framar wirar 8 SR 39 $o Hel & fou 3@ faar wirar 81 3 <8 # ufvafda gt war| 39 sfta &1 A9 sarsv
ot g8l & 991 & g iR ¢ 391 Wia |1 )2

® Rhizopus- Curd /ITSSIUN - Gal

® Lactobacillus- Curd /ﬁaeﬁﬁw - Eﬁ

® Yeast- Milk / @R - gy

® Lactobacillus- Milk / AT I4RaT - gy
Correct Answer :-Lactobacillus- Curd /m - E_Eupf
25)

Question Stimulus :-

J{Q
J{
If AABC ~ AAPQ and if AP = 4, PB = 3 and PQ = 5, find / af¢ AABC ~ AAPQ 3R
AQ
AC
gfe AP = 4, PB = 3 3R PQ =5, d 9 B
A
.-"fllﬁl\."\
/N
P 'x\Q
\'-\..
L N
B ¢

L | g



e | e

—1 | 4=

| e

Correct Answer :-
26)
Question Stimulus :-

Microorganisms which feed on dead and decaying matter follow / ﬁ&ﬂﬁﬁa Ell Hd Ud & verd @rd %, C|
fraer srgaRor #4 7

® Parasitic nutrition / TReital T

® Heterotrophic nutrition / RO qrwor

® Saprophytic nutrition / '\ﬁ'&ﬁ"ﬂ%’(ﬁﬁ qryor

® Autotrophic nutrition / WUy grwor
Correct Answer :-Saprophytic nutrition / ﬁ;ﬁtmg‘&m qryor
27)

Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./
Fafafaa o8 gy Fg afte & muR R 8, S 3 v uRis R $uft & 5 Ikt & aiffe Iaea &t
(9 ) feamar 21



Year/d% M Scrabble /FaeT | Chess/aTa¥ar | Monopoly/ | Carrom/
A | A
1992 200 150 78 a0 635
1993 150 180 100 105 70
1994 180 175 92 110 85
1995 195 160 120 125 73
1996 220 185 130 135 a0

The production of Carrom in 1993 was what percent of the production of Chess in 1993? / 1993 ﬁ, I BT JdigH,

RSl & Jcd1G B foraAT ufa=ra ur?
° 80
e 70
° 35
° 20
Correct Answer :- 70
28)

Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

Frafafad o8 vy Ay Tt & YR R 8, S & v uiig Qe »u-t & 5 Sl & aiffie Sded a1
(S9RI #) fe@mar 81

Year/d% !'\QW Scrabble /FFae | Chess/aTa{aT | Monopoly/ | Carrom/
A | A
1992 200 150 78 a0 63
1993 150 180 100 105 70
1994 180 175 92 110 85
1995 195 160 120 125 73
1996 220 185 130 135 20




For which of the following toys, the total production of all the 5 years is the maximum? / ﬁ'ﬁﬁf@a @??Fﬁ' A9 frae
forg, @t 5 auf &1 Fa I fiFHan 82

® Ludo/ Fj\_\‘ﬁ

® Scrabble / ThaA

® Chess / TTa¥S

® Carrom / B3|
Correct Answer :-Ludo / TSI
29)

Question Stimulus :-

An example of periodic motion is that of a / 3Mradt fa &1 Udh 3qIe Ul Ug % :
® Table clock / dTd Elff
® Wall clock / IR g3t
* Digital clock / 3®Ig g3t
® Simple pendulum / Il GIGED
Correct Answer :-Simple pendulum / 939 AlA®
30)

Question Stimulus :-

Following six questions are on the basis of the data given in the following table, which
gives the annual production (in thousands) of 5 products of a famous toy company./

Frafeafad o8 vy Ay Tt & YR R 8, S @ U uiig Qe »u-t & 5 Sl & aiffie Sded a1
(39RI ¥) fe@mar 21



Year/d% M Scrabble /FaeT | Chess/aTa¥ar | Monopoly/ | Carrom/
A | A
1992 200 150 78 a0 635
1993 150 180 100 105 70
1994 180 175 92 110 85
1995 195 160 120 125 73
1996 220 185 130 135 a0

What is the percentage drop in the production of Ludo from 1992 to 1994? / 1992 ¥ 1994 dF ﬂ?ﬂ' ¥ I H

wfa=ra fiRmae w82
® 30
® 50
® 20
® 10

Correct Answer :-10



